Geometry Assignment (due Friday)

1. Calculate the reflection of each of these points when inverted in the unit circle $x^2 + y^2 = 1$



2. Calculate the reflection of each of these points when inverted in the circle given:



3. Explain what transformation you get by doing two reflections across parallel reflection lines. If the transformation is a translation, describe how the translation vector is related to the parallel lines. If the transformation is a rotation, describe how the rotation point and angle are related to the reflection lines.

translation a vector Perpendicular to the reflection the distance between the 1ines. (from first refl. line to words 2021 4. Explain what transformation you get by doing two reflections across intersection reflection lines. If

4. Explain what transformation you get by doing two reflections across intersection reflection lines. If the transformation is a translation, describe how the translation vector is related to the parallel lines. If the transformation is a rotation, describe how the rotation point and angle are related to the reflection lines.

A rotation around the intersection of the ABCin two reflection lines. countere lockwise by an angle that is the rotation 2x the angle between 2×m2ABC the reflection lines. counter clockwise If you pick a point, 1, on the first reflection line (call the intersection point B), and CE second line such that

5. Describe how we measure angles between intersecting circles (for instance, hyperbolic lines that are half-circle shaped).



6. If you invert/reflect a circle across another circle, what shape(s) is the reflection?



and
$$\overline{AC} = DF$$

and $\angle BAC = FDF$
By Application There is a congruence
transformation such that
A maps to D B^{A}
B maps to B \in DF
C maps to C' that is on
the same side of DF as F
Because $AB = DF$, $A' = D$, $B' \in DF$
Because $\overline{AB} = DF$ and $\angle ABC = \angle EDF$
Cuid C'and F are on the same
side of DF, so C' $\in DF$
Because $\overline{AC} = DF$ ($\overline{A'C'} = DF$)
an C' $\in DF$ (and $A' = D$)
so C' = F
So My Congraence transfonotin
maps $A = D$
 $B = SO A + BC = \angle DFF$

Why Application?

8. Explain the ASA theorem can be proved using the Application axion.
Given & ABC and & DEF
Such that
$$\angle BAC \cong \angle EDF$$

 $AB \cong DF$
 $\angle ABC \cong \angle DEF$
 $\angle ABC \cong \angle DEF$
 $B \subseteq Application, there is a congruence
transformation that maps
 $A \Rightarrow A'=D$
 $B to B' \in DF$
 $C to C' on the same side of
 $DE as F$
 $Because A'=D, AB \cong DF (A'B' \cong DE)$
and $B' \in DF$,
 $SO B'= F \in B$
 $Because \angle BAC \cong \angle EDF (\angle B'A'C' \cong \angle EDF)$
and $B'=F, A'=D$ and
 $C' and F are on the same side of DF
 $JU C' \in DF (\angle EDF (\angle A'Bc' \cong \angle EDF))$
 $C' = DF (\angle EDF (\angle A'Bc' \cong \angle EDF))$
 $C' = DF (\angle EDF (\angle A'Bc' \cong \angle EDF))$
 $C' = DF (\angle EDF (\angle A'Bc' \cong \angle DFF))$
 $C' = DF (\angle EDF (\angle A'Bc' \cong \angle DFF))$
 $C' = DF (\angle EDF (\angle A'Bc' \cong \angle DFF))$
 $C' = DF (\angle EDF (\angle A'Bc' \cong \angle DFF))$
 $C' = DF (\angle EDF (\angle A'Bc' \cong \angle DFF))$
 $C' = DF (\angle BF (\angle A'Bc' \cong \angle DFF))$
 $C' = DF (\angle BF (\angle A'Bc' \cong \angle DFF))$
 $C' = DF (\angle BF (\angle A'Bc' \cong \angle DFF))$
 $C' = DF (\angle BF (\angle A'Bc' \cong \angle DFF))$
 $C' = DF (\angle BF (\angle A'Bc' \cong \angle DFF))$
 $C' = DF (\angle BF (\angle A'Bc' \cong \angle DFF))$
 $C' = DF (\angle BF (\angle A'Bc' \cong \angle DFF))$
 $C' = DF (\angle BF (\angle A'Bc' \cong \angle DFF))$
 $C' = DF (\angle BF (\angle BF (\angle A'Bc' \cong \angle DFF)))$
 $C' = DF (\angle BF (\angle BF (\angle BF (\angle BF))))$
 $C' = DF (\angle BF (\angle BF (\angle BF))))$
 $C' = DF (\angle BF (\angle BF (\angle BF))))$
 $C' = DF (\angle BF (\angle BF (\angle BF))))$
 $C' = DF (\angle BF (\angle BF)))$
 $C' = DF (\angle BF))$
 $C' = DF (\angle BF)$
 $C' = DF (\angle BF))$
 $C' = DF (\angle BF)$
 $C' = DF (\angle BF))$
 $C' = DF (\angle BF)$
 $C' = DF (\angle BF))$
 $C' = DF (\angle BF)$
 $C' = DF (\angle BF))$
 $C' = DF (\angle BF)$
 $C' = DF (\angle BF))$
 $C' = DF (\angle BF)$
 $C' = DF (\angle BF)$
 $C' = DF (\angle BF))$
 $C' = DF (\angle BF)$
 $C' = DF (\angle BF)$
 $C' = DF (\angle BF))$
 $C' = DF (\angle BF)$
 $C' = DF (\angle BF)$$$$

•